KiTIEHIEE ~ e
(G FLYCOLOR' ”iﬁﬁﬁﬁ & 05 kit Rt raE

Raptor390 Tower F3 FC I K=
BSEULATR | AERNEEA  ERNEETHSHASGEMRSRN | BURNEEEBREN FOGSEI | BRS00T oy Smaripon (53158 SBUS &=
FRARARBBHRT , FRETURORMEER. BRI RER EAAT Rl A R EEmms| RAPTOR O fs’@ O
ROEARE , SEERRT IS RARDERANEESE. RIENERSENOER FEERN ) [ A—[RX Buzzer
B, L. MR EEER, Flight Controller oo . SBUS 5 Igse
g D H 'g 23 o
&l LED
01 =454 e J%SGEIEH% o EH Sho| “EP
© MR F36x36mm , RAERTF30.5x30.5mm , ®3mm ; ) ) e . — b Fe—
o EE :9.5g; N P E D > iy 3
o THEERSE : 7-16V/(ai2-4 SRR IE) ; (OSDEHER ) e
o EFIARM Cortex MARIIZHISTM32F 303404288 , TARMIERAIAT2MHz ; AENEAUEEET , TR HIEmE O DDDDDDD O
PEK ; —
° S7IEPPM, PWM, SBUSEZ R FimE/#EKEs ;
o KIRERMOSD ; #A5Y. 12V LIRFSHAE(VBATAN , HEAELE. BEL. I35, LEDITZ/NIHE ; N
o RRECIFENRDESNED  FEBEUIRAEES  SERRFENRERS | s mE00T oot s
o KINBITUSBERBM , AIFHREM , RIEEE ; TLZIHOneShot YA , APIDSHIATRMRS I ; . I 0 ahies PPM &=
o ABEHESCHBIRABRESET CENNOESIER  IREHnE. R e o ’X —
PPM [GND |1 - 3 TX | gpg 5 g
02 =@t == D P iy P
vV LED
= TEesBE E Ao RY@ts%) eREE[AD1 -9~ D 0 GND
RSS! #iEEHE [Ap2 " D uf T
FK-D1D1 7-16VE2-4SEREB AL R 9.5g 36x36x7.5mm P 3]: 3 g e
( SDEXER ) gND
o DDDDDDD o
— i3 3 0oooo
03 wiss/2%ERY
= A HE R (mm) iz
1| %390 Tower F37ki% | 1 36 FHRCIREE  BEBOQT 1 PWM &=
e . GNDI—1
2 RIS+ M3*5+6 4 ﬁﬂ o %VH ;:§§ Buzze s
3 BRBE M3 4 [] D %[7 e §E§E§§ LED
. CH6 5V LED
4 R IIRET M3*12 4 }E D D E - ?07 GND
on
R CRIEFES30 ME—0i , REEHE, - - #lmH 02 TR
mEERE ; JE ] E] ISP R0 —| = § mis B
— (SDEXETR) IGND
HETMPERE: | FOMRGT - - D O DDDDDDD O s
—HR10PInZ R (10p SH1.0i%F ) , BFPWM/PPMEEN ; jmlm| 0oooo
—1R3PIN&TR (4p SH1.08F ) , BFSBUSED ; BiRisjainisln
—1R6PiInZ5R(6p SH1.08%F) , AATFLEDRIZISES ; 30.5

=HR4PINZHR(4p SH1.0TF) , BFFRRAMENE ;

FIR3PINZIR (3p SH1.0i%F ) , AFARNEEL O 8
=z

AR ST RIERELR  ERASORANGREEONEFS 'I’%‘Elm

TEREONEFENMNER. NRGNEETIRELERER BRIURSE , FRURE

SRR AR AL ST R, o TICEARHR I TR , B2 —EERENE.
oTERRIR A E MTAEER | EXARIR
04 JZE%ZI_T% oM AREE—VCC FAREEER A LAEIR.

o CIRFRR{ER AT LA B th B E BRSO D FRAR (LR,
o REBGND, VCCZBERMERE  XHRBIRE (181 ) .

A oREJEGND. VCCENBIMASEMEIES.
AEBAARERNHEORAIECTHHARERHED , BIFSHER.
o5V 12VRASATFEINZEIZR (5VEKA1A 12VEK500mA , 12VREINAFESL ) .
o CRERE IR,
* VBAT, GNDIEERBEERIR—E , 2 AL — LRI R R B R , EINEE /BRI B R .

GND

9]

1 o S1-S4iR% , AFBEIRFRANABESE |
o FTEIRRERRIFRIREEA |, EARBEEER
RIS TIE AT LA Z IB5EEE

o MEHRATITIRE , BRREELBERET ; _E,fi- ;_25 ﬁ;u =S (a F I_YCD LD R ®

o EB RISV ERICERMEEEIE “ N
e EEP www.flycolor.net

SbEEE S



User Manual
Flight Controller

Raptor390 Tower F3 FC

¢ FLYCOLOR"

Thank you for purchasing our product. Any Improper operation may cause personal injury damage to the
product and related equipments. This high power system for RC model can be dangerous ,we strongly
recommend reading the user manual carefully and completely. We will not assume any responsibility for any
losses caused by unauthorized modifications to our product. We have the right to change the design,
appearance, performance and usage requirements of the product without notice.

O1 Main features

® Size:36x36x7.5mm; install dimension:30.5x30.5mm,®3mm

o Wieght : 9.5¢;

e Operating Voltage: 7-16V (or 2-4S LiPoVBAT ) ;

o STM32F3 Processor with hardware floating point unit for efficient flight calculations and faster ARM-Cortex M4
core. Operation frequence up to 72MHz.

e Supports SBUS,PPM,PWM etc. receivers.

e FCintegrated OSD, also integrated 5V, 12V, and battery voltage (VBAT) output, Easy power supply to Image
transmitter, camera, buzzer, LED and other peripheral ;

e Only keep very simple connectors for flight, provides all kind of cables for connectors on FC , to give you an unprecedented experience of installation;

o Update the FC firmware by connect computer via USB. Full support for OneShot ESCs for easy PID tuning and a sharper response.

o Only need to connect the single signal wires to the pads on the flight controller PCB, easy to connect.

RAPTOR

Flight Controller

02 Specification

. Weight Size
Model Operating Voltage (For reference ) (For reference )
FK-D1D1 7-16V Or 2-4S LiPo VBAT 9.5¢g 36x36x7.5mm

O3 Part list/ Install Dimensions

@ Install Dimensions(mm)
36

Item Description Qty.
Raptor390 Tower F3
Flight Controller

1 1

2 Nylon spacer M3*5+6 4 LR

D [t )
3 Nylon Nut M3 4 = —
4 Nylon screw M3*12 4

Recommend Flycolor Raptor390 4in1 ESC. Assembly
will be more simple.

30.5
“w“*w‘
-
%D%
[
36

For quick plug, Flight Controller additionally provide: :

one 10p cable (10-pin SH1.0 terminal) for PWM/PPM connectors; !_H—\D
one 3p cable (4-pin SH1.0 terminal)for SBUS connector; Uogooog
one 6p cable (6-pin SH1.0 terminal)for LED and Buzzer; 30.5

three 4p cables(4-pin SH1.0) for different brand Image Transmitters.
two 3p cables (3-pin SH1.0 )for different brand Cameras;

(for reference)
Attention: For these quick plug cables, please confirm the wire
sequences on your devices’ connector are corresponding with the
Flight controller before connecting. If the terminals are not fit your

devices ,please make a modified connection to fit. *All pictures are for reference only

04 Wiring Diagram

Battery V+ Battery V-

A\

® Only need to connect any one group of VBAT, GND
pads to battery, power supply the FC.

e Only need to connect the white signal wires on ESC
to S1-S4 pads.

oAll welding requires good welding technology, short
circuit between the element or the wire should be
avoided at any time.

® Please ensure all solder joints are insulated
with heat shrink where necessary.

4# ESC white signal wire e Please double-check the polarity is correct

3# ESC white signal wire before power up.

———2# ESC white signal wire

1# ESC white signal wire

05 Receiver modes & Connect method

ToP SBUS Mode

BOTTOM

Bridged “BOOT”
for recovering firmware

Image VBAT+
lransmitlergND

ISP programming —|
(OpSDgDebug)g

0oooo
O DDDDDDD O

PPM Mode

Bridged “BOOT" TOP
for recovering firmware

o S ke
Receiver| chil—a—] %E%
CURRENT METER| AD1|-9 W
Rrss|aD2]" -

. Raset BAT-
RCE S I = 8 andmitteronD |
0oooo s
O [Ugpooo O
TOP PWM Mode BOTTOM

Bridged “BOOT"
for recovering firmware

1
O
]

PWM
Receiver

IIIIITI<Z

1 N |1 | gps
sa— A X —a—5v
iE— & B —1—{GND|
6
" D usuu‘éwﬂ
b Image
ISP programmin: iy
5% 9 e (ransmmers

(OSD Debug)
00000
O poooo O

Looo00we

OB Attention

e Observe polarity at all times. Check and double check before applying power.

e Power off before unplugging ,plugging in or making any connections.

e Connect only one source of power to the VCC pins. Do not connect more than one source of power to two or more of the VCC pins.
o The flight controller can be powered by battery or additional PDB.

o Do not connected GND, VCC to each other (short circuit).

o Do not connect GND, VCC to any inputs or outputs unless specifically stated.

e Do not connect any input or output to any other input or output unless specifically stated.

® 5V ,12Vsupply is for low-current use only(5V 1A MAX, 12V 500mA MAX,12V is suggested for camera only).

o Keep magnets away from the Flight Controller.

e Do everything you can to prevent vibrations.

User Manual
Flight Controller

¢ FLYCOLOR"

www.flycolor.net

251400-1060,V 1.1



	页 1
	页 2

